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LY EXAM-2022 |
Reg No EE:E)EEj |

COMMON QUARTER

@ standard XII |
Marks - 60 |
e 300 hre ACCOUNTANCY |
vy Fangl J0x1=20 |
| Choose the correct answers: ‘ ﬂ
) Ily maintained by
: 'mm;«ﬁc DI A R b) Government ot
:; small sized sole trader business d) Multinational enterpr
48 of assets over liabilities is ' |
: I?f:::“ Ntk & gt ived: 'CF'Q)sP{ og(tJ 000, Credit :
4\3) Opening balance of debtors : ‘Rs.30,000, C_ash received: .1.00,
"'sgles 'Rs 90,000, Closing balance of debtors IS 4y s 50,000
a) 'Rs 30.000 b) 'Rs.1.30,000 ©) Rs.40,000 iy
cords receipts and payments O

 Recelpts and payments account re
5 a Resonue nalu)r:nonly b) Capital nature only
Both revenue and Capital nature d) None of the above
5 |ncome and expenditure account is a ;
a) Nominal A/c _b)yReal A’c
¢) Personal A’C d) Representa
6. Donation recelved for a specific purpose is - :
a) Revenue receipt _byCapital receipt
c) Revenue expenditure d) Capital expenditure
7 Inthe absence of a partnership deed, Profits of the firm will be shared by the partners

tive personal account

4] .
_a&)Equal ratio b) Capital ratio
~" ¢) Both (a) and (b) d) None of these
8, In the absence of an agreement, Partners are entitled to _
a) Salary b) Commission  -c) Interest on Loan d) Interest on Capital
loan from drawings. interest on capital and remuneration is

9. Profit after interest on
‘Rs 10 500. Geetha, a partner, is entitled to receive commission @5% on profits

after charging such commission. Find out Commission.
a) 'Rs.50 b) Rs. 150 ¢) Rs. 550 __d)*Rs.500
10. Which of the following statement is true?
a) Goodwill is an intangible asset - b) Goodwill is a current asset
c) Goodwill is a fictitious asset " d) Goodwill cannot be acquired
11. The average rate of return of similar concerns is considered as
a) Average profit b) Normal rate of return
i?) Sl:')h E);petac‘ted rat? of dretum ‘d) None of these
) The total capitalize value of a business is 'Rs.1,00,000; assets are *
" and liabilities are ‘Rs.80,000. The value of goodwill as per the capitalizzt?c;:{r?\%tggg

wilbe -
a) 'Rs.40,000  b) 'Rs70,000  c)'Rs.1,00.000 _dy“Rs.30,000 |
‘ ‘ |

13. Super profit is the difference between : :
a employed and average profit b) Assets and liabilities .

a_j . !Ea:c p;%r';o zr:‘c: ir::;mal profit . d) Current year’s profit and average profit
) Real A b)Nominal A/c’  c) Personal A/c d) I
15. WMM loss on rev;lu,atl,on of assets and liabilities is tmnsf)ém?{;%zg/&w

"

accountof -
¢) All “ﬁoﬁfm&. ' b) The new partners R

d) The sacrificing Partners

4
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16. Select the odd one out
a) Revaluation profit b) Aco.;mui;tte: oss
vfgoodwiﬁ brought by new pannersr d) Investme
17. On revaluation, the increase in fiabilities |e)agrs 0}:
c

Gain b) Loss : - , ™
18 In the final amount due to a retiring partner is not paid immediately
a) Bank a/c b) Retiring parets e/
c) Retiring partners loan a/c ) Other pame(; e .
19, A, B and C are partners sharing profits in the ratio of 4:2:3. C retires.
~€) 21 d)1:2

sharing ratio between A and B will be
a)4.3 b) 3:4 X GiodiNl
20. X.Y and Z were partners sharing profits and losses equally. prs
Find out the share of X in the profit of 2019 based on the profit of 2U ‘ 3 %
‘Rs.36,000. . S
a) 'Rs.1.000 b) “Rs.3,000 ¢) ‘Rs.12,000 g) Rs36.00%
Il. Answer any 7 questions: (Question No. 30 is compulsory) L mant .

21. What is a Statement of affairs? : § M
22" From the following details, Calculate the capital as on 31% December 201

Fmgu ars
Capital as on 1% January, 201 ' 1,00,000

Goods withdrawn for person3l use by the ownes |
Additional capital introduced during the year ;g%

| Profit for the year !

23. Give four examples for revenue receip!s of not-for-profit organzation.
24 From the following details calculate the printing and stationery o be debitad 10
and Expenditure Account for the year ending 31st March, 2018

Amount paid for stationery during 2017-2018 R 1,500
Stock of stationery on 18t April 2017 g%

Stock of stationery on 31st March 2018 ‘
25 Mannan and Ramesh share profiis and losses in the ratio of 3 1. Tha captal

April 2017 was 'Rs 80,000 for Mannan and 'Rs 80,000 for Ramesh and thew
accounts show 8 credit balance of 'Rs 10,000 and 'Rs 5,000 respectively
interest on capital as 5% p 8 {or the year ending 31st March 2018 g,
26, Define Partnership. . L.
27 Mala and vimala were parnners shanng profits and losses in the raio of 32 '
31.03.2017, Varshini was sdmitted a8 a partner @qudm.'“a
the firm showed & reserve fund of 50,000 Pass the journal entry 10 distributs the

A
|

reserve fund. *
28 Vimal and Arthi are partners sharing profits in the ratio of 21 Jeyam is ade  for

phices

B ! : M.. 3
. Answer any 7 questions: (Question No. 40 is com

31 Following pariculars 2
=8 = _.|-. .
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__Xll Agcouptancy
lars “__A!H.Q.i!"l!ﬁ!.;- |
Cligeya 1,60,000| - 1
0,000
Deptors 1:?)6033 Bills payable e L
| pis recetvable 30'00O Cash in hand 60,000
3wwb“ﬂr in tha
f—%ﬁm" show how the ltem subscnpﬂo;! will appe
SFrom oliows ; arended 31.12.2018
ccount for the ye ‘Ra 5,000 for 2017 and

Subscription for the year 2018 Is 'Rs.8,000.
iption outstanding for the y a

R;:m.OOOm fo& 22(194 (?O‘é)b;zrs‘;‘agewed in advance for 2018 In the year 201 7.. |

. ‘ ollowing 5 H'ams are dealt with in the final accounts of not-for-profit organization?

How the | e materials b) Life membership fees c) Tournament _fund.r

a) Sale of lpOﬂr . He withdraws *1,000 pm regularly. Interest on drgwmgfshuo

{:,m@ 5% pa. Calculate the interest on drawings using average period. if he

(ii) in the middle of every month (il
the value of goodwill by capitalizing super

) at the end of

profit ’ K - 109
: ‘Rs 4,00, (ii) Normal rate of return: 10%
() Capta ooy . 201761,000; an 2018.63,000. B
Rajesh and Ramesh are partners sharing profits in the cgtlo 3:2. F.?a'man is admitted
as a new partner and the now profit shanng ratio is decided as 5:3:2. The following -
revaluations are made. Pass journal entries
(a) The Value of building is increased by ‘Rs.15,000
(b) The value of machinery is decreased by Rs. 4,000
(c) Provision for doubtful debl is made for ‘Rs.1,000 '
State the differences between statement of affairs and balance sheet (any three)
State any six contents of a partnership deed.
Ashok and Mumtaj were partners in a firm sharing profits and losses in the ratio of 5:1.
They have decided to admit Tharun into the firm for 2/9 share of profits. The goodwill
of the firm on the date of admission was valued at ‘Rs.27,000. Tharun is not able to
bring in cash for his share of goodwill. Pass necessary journal entries for goodwill on
the assumtption that the fluctuating capital system is followed.
Distinguish between Sacrificing ratio and gaining ratio ( any three)
‘ Part- IV

Answer all the questions. : 75=135
a) Pandian does not keep his books under double entry system. From the following

information prepare trading and profit and loss account and balance sheet as on

31.12.2018

Particulars 1.1.2018 31.12.2018
Furniture ' 30,000
Cash in hand 10,000 ?9,'888
Debtors 40,000 60,000
Stack 28,000 11.000
Bills receivable 12,000 35,100
Bank loan | 25,000 25000
Creditors 15000 | 16000] -

A
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: 800 b
Cash . 11,200 CreditSales 353 o S
Cash purchases 4250 Credjl purchases. ‘700 E =
Carriage on purchases 3,000 Carriageon sales 2 500 e
Commission received 600 Intereston baqk loan 14600 ;
Drawings 8,000 Additionalcapital 5400 £
Salaries 8,000 Officerent - é pro vision of 1% TR

Adjustments: Write off depreciation of 5% on furniture. Creat S

on debtors for doubtful debts. : : 3 Inthe &%

b) Seenu and Siva are partners sharing profits and losses IN the ratio of 5 A
view of Kowsalya admission, they decided g

a) To increase the value of building by ;!s:gggg | |

b) To bring into record investments at "Rs. 1Y, _ . ey

¢) To decrease the value of machinery by ‘Rs. 14,000 and fumniture by ‘Rs.12,000 18

d) To write off sundry creditors by ‘Rs.16.000A : i
Pass journal entries and prepare Revaluation Accoun : LR

42. a) Fromjthe following particulars of Chennai Sports Club, prepare Receipts and L
payments account for the year ended 31st March, 2018. .

Particulars Amount [ Particulars  Amount

Opening Cash balance as on 1.42017| 10,000 | Subscriptions received

Opening bank balance as on 142017 | 15,000 | 2016-2017 4,500

Interest paid | 5,000 | 2017-2018 65,000

Telephone expenses 7,000 | 2018-2019 5,000 | 74,500

Upkeep "of grounds 22500 | Toumament expenses 12.500

Life membership fees received 5,500 | Toumament fund receipts 15,000

Bats and balls purchased 13,000 | Closing balance of cash(31.3.2018) 5,000
(OR)

42.b. Anand and Balu are partners in a firm sharing profits and losses in the ratio of 7:3.
Their balance sheet as on 31st March, 20718 is as follows:

Liabllities | Amount|Amount | Assets Amount Amount
Capital accounts: Land 60,000 .
Anand 50,000 Stock 40,000 et
Balu 30,000 | 80,000 |Debtors 20,000 g
Sundry creditors 20,000 [Cashin hand 10,000 ﬁ:
Profit and loss a/c 30,000 0
: 1,30,000 1.30,000 . ;%
Chandru is admitted as a new partner on 1.4.2018 by introducing a capital of o
*20,000 for 1/4 share in the future profit subject to the following adjustments: fa

a) Stock to be depreciated by 'Rs.3,000
b) Provision for doubtful debts to be created for 'Rs.2,000.
¢) Land was to be appreciated by 'Rs, 10,000

Prepare revaluation account and capital account of partners after admissi
43, a) From the(‘following particulars, calculate total sales.p gAY,

LT

, ~ r. =
s ” -

Particulars Amount Ra]‘ ‘ Particulars Amount Rs
Debtorson 1stApril2018 | 2,50,000 | Bills receivable dishonored
Bills recalvable on 1stApril 2018] 60,000 | Returns inward ;3%

Cash recelved from debtors 7,25,000 | Bills receivable on 31st March, 201

| ived from debtors 25, 2019  0.000

Cosh recevedor receivable| 160,000 | Sundry debtors on 31stMarch, 2018 | 2.40 000
= . B bt e , 3,15,000

Leatall

%
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(5) Xl Accountancy
. : Padmini and
| -1 accounts of partners
43,b) ' From the following information. prac;:a; ?I ;;aputal
/ Padma, when their capitals are fluctuating- W#Padma Rsl
/—4_"’—-— -
Particulars 5'00'000 4l08'838
Capital on 1st January 2018 (Cr. Balance) 70,000 41 jgao
Drawings during 2018 2,000 oo
Interest on drawings 52,000 :
Share of profit for 201 8 : 30,000 i 24,000
Interest on capital [ 45000 Nil
s:maryI _ Nl 21,000 |
Gofnmission i Thi fluvar Manr
: asi Thiruva am
44 =) Fromthe following receipts and payments afccotlﬁgl ;I)ef;rreg*; 2SI 1ot March, 2019
prepare income and expenditure account for e i ountRs]
Recelpts Amount Rs. ' Pa_yments v L 0, :
To Balance b/d By Salaries S50
Cash in hand 14,000 |By Rent 2000
To Interestreceived 5,000 |By Travelling expenses 6,000
To Subscription 55,000 | By Printing and stationery 50'000
To Legacies 48,000 |ByInvestments made 2l
To Entrance fees 7,000 | By Sports equipment purchases 10,000
To Sale of furniture By Balance c/d Cash in hand |
(Book Value: 17,000) 16,000
1,45,000 1,45,000

ses, calculate the value

(ORI .
b) From the following information relating to Sridevi enterpri
of goodwill on the basic of 4 years purchase. of thetgyer%gg:gfgﬁtsnia_years.
a)g Profits for the years"égamg 31st December 2016, 2017 and 2018 were
Rs.1,75,000, ', Rs.150,000 and 'Rs.2,00,000 respectively.
b) A non-recurring income of ‘Rs.45,000 is included in the profits of the year

2016
c) The closing stock of the year 2017 was overvalued by ‘Rs.30,000.

45. a) Find out the Value of Goodwill b/ capitalizing super profits:
0

a; Normal Rate of Return 107
b)  Profits for the last four years are 'Rs.30,000, 'Rs.40,000, "Rs.50,000 and *

Rs.45,000.
c) A non-recurring income of ‘Rs.3,000 is included in the above mentioned

profit of Rs.30,000.
d) Average capital employed is Rg.g,oo.ooo

b) From the following balance sheets og subha and Sudha who share profits and
losses equally, calculate interest on capital at 6% p.a. for the year ending 31st

Decembter 2017,
Balance sheet as on 31st December 2017

et “— Rs. '|Assets Rs.
| apital accoun Fixed Assets ?3
‘ | -~ | 15,000 |Current assets 28888
e gy - 20‘|m0 '
Current liabilities | 15,000| A g
, : "" ~50,000 N '—m , ﬁ

Drawings-of Subha and 3 dha durin : .
respectively. Profit eamed du; :M&;?ilay:a'k:mi?m%&zsoo i
] -.*J’ % ' A 2 ! - ) ¥
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2 b in the ralio
46e)@ -Anand and Narayanan are partners ina ﬁrm' ssh:g;g ng‘s'o %wwm

‘T of 5:3. On 1st January 2018, their capita _
respectively. The parinrgrshi de:d s = e%!r;:olM- :
a) Interestoncapitalistobe a cwed annum y 1 and
bg Interest on drawings charged to Anand and Narayanan are Ri-‘ .m |

Rs 800resFec11ve2y ki s * M

c) Thenetpronofth:dfnmRsasooo
drawings amounted 10 . :

Give necessary journal entnes and prepare Profit and loss

as on 31 Decrzmber 2018 Assuz?ag;at the capials are

Mani. Rama and Devan are pariners in a firm shar
ratio of 4:3.3. Their balance s?:et as on 315t March,

Sundry creditors
Profit and loss a/c ; 1
Mani retired from the partnership firm on 31 03 2015 ,
S Ock t6 be depraciaied "'soog;-"’/ F
I (o} 2, AN e
2) Provisionfordgrubﬂul J_obia%ﬂ_" s 1L
il) Buildings to be appreciated by Rs 16000
iv; The final amount due to 18 not paid immed
Prepare revaluation account and capital account
47 @) Ahamad and Basheer contribute Gr-"
or the year is Rs.5,000. Compule the
mtmaum

- aftr i ﬂl 1

- I e
B "-“tnl} 1y .‘-.
- - = - . i
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